
No.
Picture /

Illustration
Description Qty /Qté

A Seat / Assise 1

B
Leg /
Patte

1

C
Washer / 
Rondelle

4

D
Bolt M6 x 30/

Boulon M6 x 30
4

E
Bolt cover / 

Capuchon de boulon
4

F
Allen wrench / 

Clé Allen
1

G
Back cushion / Coussin 

dorsal 1

H
Back cushion / Coussin 

dorsal 1

I
Seat cushion / Coussin 

d'assise
1

Parts list / Liste de pièces

Do not tighten bolts completely until assembling is completed!
Ne serrez pas les boulons complètement jusqu'à ce que le montage soit terminé!

Iris 3-pieces sectional-Corner / Sectionnel 3 mcx Iris - Module de coin
Assembly Instruction / Instructions d'assemblage



No.
Picture /

Illustration
Description Qty /Qté

A Seat / Assise 1

B Leg /
Patte

1

C Washer / 
Rondelle

6

D Bolt M6 x 30/
Boulon M6 x 30

6

E Bolt cover / 
Capuchon de boulon

6

F Allen wrench / 
Clé Allen

1

G
Back cushion / Coussin 

dorsal 2

H Seat cushion / Coussin 
d'assise

1

Parts list / Liste de pièces

Do not tighten bolts completely until assembling is completed!
Ne serrez pas les boulons complètement jusqu'à ce que le montage soit terminé!

Iris 3-pieces sectional-Loveseat with left arm / Sectionnel 3mcx Iris - Causeuse avec bras grauche
Assembly Instruction / Instructions d'assemblage



No.
Picture /

Illustration
Description Qty /Qté

A Seat / Assise 1

B
Leg /
Patte

1

C
Washer / 
Rondelle

6

D
Bolt M6 x 30/

Boulon M6 x 30
6

E
Bolt cover / 

Capuchon de boulon
6

F
Allen wrench / 

Clé Allen
1

G
Back cushion / Coussin 

dorsal 2

H
Seat cushion / Coussin 

d'assise
1

Parts list / Liste de pièces

Do not tighten bolts completely until assembling is completed!
Ne serrez pas les boulons complètement jusqu'à ce que le montage soit terminé!

Iris 3-pieces sectional-Loveseat with right arm / Sectionnel 3 mcx Iris - Causeuse avec bras droit
Assembly Instruction / Instructions d'assemblage


	179583 Iris Sectional_corner_BI - FR - EN
	Sheet1

	179583 Iris Sectional_Loveseat with left arm_BI - FR - EN
	Sheet1

	179583 Iris Sectional_Loveseat with right arm_BI - FR -EN
	Sheet1


